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1. 

(i) 40 

(ii) 1 

(iii) 0 

(iv) 12 

(v) 366 

(vi) 1 

(vii) 0 

(viii) 2 

(ix) 17 

(x) two 

 

2. 

(a) (iii) 

(b) (i) 

(c) (iii) 

(d) (ii) 

(e) (ii)   

 

3. 

(i) 1245 

(ii) 635 

 

4.  

(i) 100 

(ii) 672 

 

 



5. 

(i)  1152 

(ii) 2072 

 

 

6. 

(i) Q=263       

Quotient x Divisor + Remainder = Dividend 

( 263 x 3 ) + 0  = 789 

(ii) Q=101 ; R = 1  

Quotient x Divisor + Remainder = Dividend 

( 101 x 9 ) + 1 = 910 

 

7. 

(i) 390 

(ii) 558 

 

8. Time-1:30 

 

 
 

 

 

 

 


